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= ClusterClient16
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=3 ClusterClient21
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= ClusterClient34
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= ClusterClientServer
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[-= Data(127.0.0.1:9003) -SerialToParallel0
=2 Data(127.0.0.1:9003) -SerialToParallel1
== Data(127.0.0.1:9007)-CommitLogO

=2 Data(127.0.0. ) beatThread @161
== Data(127.0.0.1:9007)-root.group_0
(= DataClientThread-1

(- DataClientThread-10

- DataClientThread-11

{-== DataClientThread-12

(= DataClientThread-13

(-= DataClientThread-14

== DataClientThread-15

(= DataClientThread-16

(- DataClientThread-17

(-3 DataClientThread-18

(= DataClientThread-19

(= DataClientThread-2

[-= DataClientThread-20

(-= DataClientThread-3

(= DataClientThread-4

(= DataClientThread-5

(- DataClientThread-6

(= DataClientThread-7

(= DataClientThread-8

(- DataClientThread-9

(- DataHeartbeatClientThread-1

(= DataHeartbeatClientThread-2

= DataHeartbeatServerThread-

(- DataServerThread-

(=3 Flush-WAL-Thread-0

(=3 HardLinkCleaner

-=3 MergeTaskCleaner

[-=2 Meta-CommitLog0

== Meta-Heartbeat Thread @1611063886844
(== MetaClientThread-1

(-2 MetaClient Thread-2

(= MetaClientThread-3

(= MetaClientThread-4

-5 MetaHeartbeatClientThread-1

(-3 MetaHeartbeatClient Thread-2

== MetaHeartbeatServerThread-

(= MetaServerThread-

(=2 NodeReportThread

== RPC-ServerServicelmpl

== TAsyncClientManager#Selector Thread 36
=1 TAsuncClientMananer#SelectorThread 40
'sun.misc.Unsafe.oark(boolean. lona)

== TAsyncClientManager#Selector Thread 36
=3 TAsyncClientManager#Selector Thread 40
= check-log-applier-Meta

(=3 check-log-applier-Node(ip:127.0.0.1, 19003, ifier:311748974, :40010,
(= check-log-applier-Node(ip:127.0.0.1, 19007, ifier:311753989, :40014,
= logback-1

== logback-2
= logback-3

= persist-log-delete-sbin/../data/systemraftLog/0/

o= persist-log-delete-sbi 0g/311748974/
(= persist-log-delete-sbin/../data/systemraftLog/311753989/
3 pool-2-Io TDB-Flush-ServerServicelmpl-thread-1

(== pool-2-IoTDB-Flush-ServerServicelmpl-thread-2
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-2 pool-5-I0TDB-Compaction-ServerServicelmpl-thread-5
(== pool-5-10TDB-Compaction-ServerServicelmpl-thread-6
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== pool-9-1oTDB-open-files-manager-thread-1

== timedQuerySalCountThread

L= timedQuerySaiCountThread

sun.misc.Unsafe.park(boolean, long)
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(= ClusterClientServer

== Data(127.0.0.1:9003)-Heartbeat Thread @1611063889363

== Data(127.0.0.1:9005)-Heartbeat Thread@1611063889327

(== Data(127.0.0.1:9005)-SerialToParallel0

(== Data(127.0.0.1:9005)-SerialToParallel1
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{~== Meta-CommitLog0
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[ MetaHeartbeatServerThread-
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{~== NodeReportThread

(== RPC-ServerServicelmpl

(== TAsyncClientManager#SelectorThread 34

= TAsyncClientManager#SelectorThread 38

(== check-log-applier-Meta

=3 check-log-applier-Node(ip:127.0.0.1, metaPort:9003, nodeldentifier:311748974, dataPort:40010, clientPort:55560)

+== check-log-applier-Node(ip:127.0.0.1, metaPort:9005, nodeldentifier:311750563, dataPort:40012, clientPort:55561)

= logback-1

== logback-2

= logback-3

= persist-log-delete-sbin/. tLog/0/
= persist-log-delete-sbin/. tLog/311748974/
l= persist-log-delete-sbin/. tLog/311750563/

{~==3 pool-5-thread-1
(== pool-6-thread-1
{-== timedQuerySglCountThread
== timedQuerySqlCountThread
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= ClusterClient12

[&= ClusterClient15

(=3 ClusterClient5

{-== ClusterClient7

[-= ClusterClientServer
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{-== DataClientThread-1
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[-== DataHeartbeatServerThread-
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(= Meta-AppendLog0
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[== Meta-AppendLog2
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=3 Meta-SerialToParallel1
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3 MetaServerThread-

== NodeReportThread

=3 RPC-ServerServicelmpl

=3 TAsyncClientManager#SelectorThread 34

(=2 TAsyncClientManager#SelectorThread 38

== check-log-applier-Meta

(= logback-1
(== logback-2
H= logback-3
(= logback-4

=3 pool-2-loTDB-Flush-ServerServicelmpl-thread-1
{=3 pool-2-loTDB-Flush-ServerServicelmpl-thread-2
== pool-2-loTDB-Flush-ServerServicelmpl-thread-3
=3 pool-2-loTDB-Flush-ServerServicelmpl-thread-4
f=3 pool-30-thread-1

[~==3 pool-5-loTDB-C: i i th

(== pool-5-lo TDB-Ct {{ rServi

(= check-log-applier-Node(ip:127.0.0.1, metaPort:9005, nodeldentifier:311750563, dataPort:40012, clientPort:55561)
t= check-log-applier-Node(ip:127.0.0.1, metaPort:9007, nodeldentifier:311753989, dataPort:40014, clientPort:55562)

I persist-log-delete-sbi 0g/0/
F-e= persist-log-delete-sbin/. 0g/311750563/
L= persist-log-delete-sbi 0g/311753989/
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o o
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== pool-5-loTDB-C: i rServi
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== pool-9-loTDB-open-files-manager-thread-1
(== timedQuerySqlCountThread

== timedQuerySqlCountThread




